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Algebra 2
Practice Test Chapter 6 — Sections 6.1 — 6.7

Simplify the following:
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3. (10x° +5x2 —4) + (x2 — 2x — 5) 4. (4y — .5)2
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5, (7a — 3a + a) - (8a ~ 4a — 8) 6. 2x*+1)(Bx—-2)
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Simplify using LONG DIVISION.
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Divide using SYNTHETIC DIVISION. -
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10. Synthetic Substitution

Find p(—3) first by regular substitution, then by synthetic substitution. Show your work!

9. Regular Substitution
p(x) = 3x3 — 2x% + 6x — 4
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Use regular substitution to find the following:
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11.Find r(4c) if r(x) = x3—-2x+1
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For questions 12 — 15, consider the polynomial function,

F(x) =3 —6x% +x3 + 4x

% -
& . o o =3
A\ - \ v Y. i TN
X =LK "+ UK+ D

12.What is the degree of this function?
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13.What is the leading coefficient?

14.Show a table of values. Between what
consecutive values of x are each real zero_
located?

¥ \* 9

- ! \?‘)‘\I % { 3,‘]'{::‘ l"__'-) v}
A S B
- = = (
1” ) =\ L
7‘:. 1 i % — : 7 [‘._3 j (D
L't). — j.‘s- &

15.Using the table of values from #14,
identify where the relative max and
relative mins are located.

Relative max is located at: | 9=

Relative min is located at: Y = Léiﬁ




For questions 16 — 19, use the following graph:

(1,4)

16.How many real zeroes does this function
have?
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17.What is the degree of this function?
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18.Describing end behavior, fill in the
blank:

Asx - —oo,f(x) » _+ O,

19. Describing end behavior, fill in the
blank:

Asx > oo, f(x) - 1 =% |

20.Circle the gréph the represents an even numbered function:




Given a polynomial and one of its factors, find the remaining factors of the polynomial.

21, x34+2x%2—x—-2; (x+1)
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22. 2x3 +4x2=5x—2; (x+1)







